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ours (0) Y\\=88,6

max (m) chromatic value, D65
M chromaticity (X, y)

Name and spectral range
Ry 561_770 ¥, 520_770

X,=88,58 Y,~88,59.7,~8858 B,
xw=0,3333y,,=0,3333 E
Ag=(ag-lao 2oy B0 ) Y 81 ¢,
Bo=(bo~[bo,ri+bo y+bo,al) Y

14 G 475_573 G, 380_561 80 =820 [x1y] - +N45
fg‘gm 380 520 M, 573 475 bo =bso [2/4]
, app=1, byy=-0,4 A
1 1 1 Lo
Q 625 n = D65 —40 \ ' 40
o 700 ao,y=8ov(Y/Y1g71)
Gl Bo,y=by(Y/Y1g-1) 1 32
' ayy=0,000,b,y=0,000 4.
ag =0,000,by A=0,000 23
8! ~Es0c, CIE 1931 X Ostwaldcolours (0) Y\=88,6 6
0,0 F0070oE max (m) chromatic value, D65 T-40
0,0 0,2 0,4 0,6 0,8 1,0 chromatic value Ay, Bg)
CE731-1A_1 CE731-2A_1
Xu=88,58,Y,,~88,59.2,~88.58 B, Xu=88.58,Y,~88,59.2,~8858 B,
%=0,3333y,,=0,3333 1 %,=0,3333y,,=0,3333 240
Ar=(ar~[ag n+ay yt+ag al) Y 81 44 Ax=(ay[ag n+ay, y*ap al) Y
By=(by=[by ntby y+by al) Y Bo=(ba-[by 1tz y+bo Al) Y
ay = ago [(x-0,172/y] 4L 5 2 = a0 [(x-0,172/y] 4L
=bgo [21] 56 bz=b20 [(Mpx+bpp)/Y] - 81 64 "
A= 1, by = =0,4 ap0= 1, byp= -0,4
m7;=1,000by; 0,171 M Mp;=-0,107 bp;=0,369 \‘\ A
n = D65 —40 40 n = D65 —40 40
ay,y=ay(Y/Y1g-1) a5 y=agy(Y/Y1g-1) 43 3
by y=boy(Y/Y1g~1) 1 32 by v=boy(Y/Y1g-1) P @
8=0,000,b,,=0,000 4 2y=0,000,0,,=0,000
a3 4=0,000,b; 4=0,000 » a3 =0,000,b, 4=0,000
Ostwaldcolours (o) Y\y~88,6 6 Ostwaldcolours (o) Yy,~=88,6
max (m) chromatic value, D65 T max (m) chromatic value, D65 T-40
chromatic value A4, B;) chromatic value (A,, Bo)
CE731-3A_1 CE731-4A_1
X=88,58,Y,,-88,59,2,,=88,58 B3 X,~=88,58,Y,,~88,59,7,,~88,58 B4
xy=0,3333y,,=0,3333 +40 X=0,3333y,,~0,3333 +40
Ag=(az-[ag ytag y+agal) Y As=(ag-[ag ntas,y+asal) Y
Bg=(bg-[bg ntb3 y+b3 Al) Y B,4=(b4~[Dy, 7+by y+by l) Y
ag = ag [(x-0,171)/y] 8% 64 a4 =ay[(x-0,179Hy] ik
b3=byg [(Mp1x+bp1)/y] 45 bs=byo [(Mp1x-+bp1)/y] 81 64
0= 1, byo=-0,4 6 WK\ 30= 1, byp= -0,4 \0\4\5 A
Mp1=-0,730,br=0.§76 \3 Mp;=-0,107 bp;=0,369 ) A
n = D65 —40 40 n=D65 —40 ' 40
a3 y=ay(Y/Y1g-1) 32 3y, y=agy(Y/Y1g-1) 4
b y=boy(Y/Y1g-1) 4 % by y=boy(Y/Y1g-1) N
ay=0,000,b,y=0,000 . ay=0,000,b,y=0,000 T
25,4=0,000,05,4=0,000 a4 4=0,000,b; 4=0,000
Ostwaldcolours (o) Y\y=88,6 Ostwaldcolours (o) Yy,~=88,6
max (m) chromatic value, D65 T-40 max (m) chromatic value, D65 T-40
chromatic value (Ag, B3) chromatic value (A4, Bs)
CE731-5A_1 CE731-6A_1
Xu=88,58,Y,,~88,59.2,~88.58 B, X.=88,58,Y,~88,59.2,~8858 B,
%=0,3333y,,=0,3333 ae %,=0,3333y,,=0,3333 20
As=(a5-[as5 n+as y+as al) Y As=(ag-[g n+3g,y*ag,Al) Y
Bs=(bs—[bs n+bs y+0s ) Y Bg=(bs~[Dg,n+bs y*+0p Al) Y
a5=az,[(+8,61x-7,19/-0,26)] 81 gh g = a0 [X/y] 64t
b5=b2x[(+1,99<+3,8Q/—2,40) 45 bg=b20 [(Mp1x+bp1)/Y] 45
=0,10,b,, = 0,10 \ a0= 1, byg= ~0,4 & \\ A
)\B 6.,R=475,508,574,494c nm , 5 \ \ , o
n = D65 —40 ' 40 n = D65 —40 \ ' 40
a5 y=apy(Y/Y1g-1) 32 ag y=apy(Y/Y1g~1) 32
bs y=boy(Y/Y1g~1) 43 b, y=boy(Y/Y1-1) 43
ayy=0,000,b,y=0,000 £ <Py ay=0,000,b,y=0,000 T 6
a5 4=0,000,b5 4=0,000 ap x=0,000,05 4=0,000
Ostwaldcolours (o) Y\y=88,6 Ostwaldcolours (o) Y,~=88,6
max (m) chromatic value, D65 T-40 max (m) chromatic value, D65 T-40

chromatic value (As, Bs)

chromatic value (Ag, Bg)

CE731-7A_1

CE731-8A_1




Ostwaldcolours (o) Y\y=88,6

X,=88,58 Y,~88,59.7,~8858 B,

0,8 o max (m) chromatic value, D50 %=0,3333y,=0,3333 +40
o chromaticity (X, y) Aq=(an-| +an o Y
y > i Name and spectral range Bo=$o_{zg'"+§g'v+zg'ﬂ§ Y
51 N/ Rm 561_770 ¥, 520_770 oY o i 80__ 79
0.6, G 475573 G, 380_561 39 =890 [XV] A5
380 520 M, 573 475 bg = bao [2M)
sop a50=1, byg= -0,4 53 A
0 4 1 1 1 Lo
! o n = D50 ~40 \ ' 40
82,100 ag,y=agy(Y/Y1g~1) 35
C, —
' Bo,y=by(Y/Y1g-1) 43
02 i3 ay=0,000,b,,=0,000 i
a5,4=0,000,by 4=0,000 w77
{ CIE 1931 X Ostwaldcolours (0) Y\=88,6
0.0 2007075 E max (m) chromatic value, D50 T-40
0,0 0,2 0,4 0,6 0,8 1,0 chromatic value (Ao, B)
CE731-1A_1 CE731-2A_1
X,~88,58,Y,,~8859.2,78858 B, X,=88,58 Y,~88,59.7,~8858 B,
%y=0,3333y,,=0,3333 240 Xy=0,3333y,,=0,3333 240
Ar=(ar~[ag n+ay yt+ag al) Y Ax=(ay[ag n+ay, y*ap al) Y
B1=(by—[by y+by y+by A) Y 80| 70 Bo=(by=[by +bs y+0y Al) Y
ay = ayo [(x-0,17D/y] ac 5 ay = a0 [(x—0,17D/y] 4
by =byo [ZA 0,=byo [(Mp1x-+bp1)/y] 80 7
ag=1, byy=-0,4 53 ay=1, byp=-0,4 45
my1=1,000,b5;=0,171 4 Mp1=-0,107,bp1=0,369 . '632
n = D50 —40 40 n=D50 —40 o | 3}/. 40
ay,y=ay(Y/Y1g-1) 35 a5 y=agy(Y/Y1g-1) A3 I
by y=boy(Y/Y1g~1) 1 by v=boy(Y/Y1g-1) 1 v
a,y=0,000,5,,=0,000 apy=0,000,5,,=0,000
ay 4=0,000,b; 4=0,000 17 |7 a, o=0,000,b, ,=0,000
Ostwaldcolours (o) Y\y=88,6 Ostwaldcolours (o) Yy,~=88,6
max (m) chromatic value, D50 T-40 max (m) chromatic value, D50 T-40
chromatic value A4, B;) chromatic value (A,, Bo)
CE731-3A_1 CE731-4A_1
X,~88,58,Y,,~8859.2,78858 B, X,=88,58,Y,~88,59.2,~8858 B,
%y=0,3333y,,=0,3333 240 Xy=0,3333y,,=0,3333 240
Ag=(ag-[ag n+ag y+ag al) Y Ag=(ag~[ag n+ay, y+ay Al) Y
B3=(bs[b3 b3 y+b3 al) Y B,4=(b4~[Dy, 7+by y+by l) Y
ag = ag [(x-0,171)/y] i a4 =ay[(x=0,17D/y] 4
b3=byg [(Mp1x+bp1)/y] 80| 70 .. bs=byo [(Mp1x-+bp1)/y] 80| 79
80=1, byp=-04 —0\\ 30=1, by=-04 YW\O\‘% A
Mpy=—0,730,b,=0,576 53 3 mp;=-0,107,bp1=0,369 " W
n = D50 40 ‘y 40 n = D50 40 b\.\ _.__35} 40
a3 y=ay(Y/Y1g-1) b 3y, y=agy(Y/Y1g-1) 9 e
b3 v=b,y(Y/Y1g-1) 17 |7 by y=boy(Y/Y1g-1) 1
a,y=0,000,5,,=0,000 ay=0,000,b,y=0,000
a3,4=0,000,b3 4=0,000 a,,4=0,000,b, ,=0,000
Ostwaldcolours (o) Y\y=88,6 Ostwaldcolours (o) Yy,~=88,6
max (m) chromatic value, D50 T-40 max (m) chromatic value, D50 T-40
chromatic value (Ag, B3) chromatic value (A4, Bs)
CE731-5A_1 CE731-6A_1
X,~88,58,Y,~8859.2,78858 B, X,=88,58 Y,~88,59.2,~8858 B,
%y=0,3333y,,=0,3333 240 Xy=0,3333y,,<0,3333 240
As=(35[35,1*35,y*a5,a]) Y Ae=(36~{36,1*35,y*35l) Y
Bs=(bs—[bs b5 v+bs Al) Y Bg=(Pg—[bg n+bs,y+0s Al) Y
2572 ((+8,6-7.19-026)] L g = a0 [X/y] +
bs=by,[(+1,99+3,86/-2,40)4] . be=bag [(Mp1X+bp1)/y] 8079 o
ay = 0,10,bp, = 0,10 @0’“\\ A an0= 1, byo= ~0.4 (o"o\\ A
AB,G.y,R=475,503,574,494c, Knm . 5 . 53, N 6
n=D50 —40 i 40 n = D50 —40 \\ 35 40
a5 y=ay(Y/Y1g-1) 43 £ ag y=apy(Y/Y1g-1) e
bs v =by(Y/Y1g-1) 17 7 Dg,y=bay (Y/Y15-1) 7 7
a,y=0,000,5,,=0,000 apy=0,000,b,y=0,000
a5 4=0,000,b5 5=0,000 a5,4=0,000,b5 4=0,000
Ostwaldcolours (o) Y\y=88,6 Ostwaldcolours (o) Yy,~=88,6
max (m) chromatic value, D50 T-40 max (m) chromatic value, D50 T-40

chromatic value (As, Bs)

chromatic value (Ag, Bg)

CE731-7A_1

CE731-8A_1




Ostwaldcolours (o) Y\\=88,6 X,~=88,58,Y,,~88,59,7,,=88,58 BD
08 T 520 e9e rcr;% n(qrgzi cciig;cETayt)ic value, P40 X=0,3333y,,=0,3333 T40
° , Ag=(ag— + + Y
y * i Name and spectral range Bo=$o_{zg'"+§g'v+zg'ﬂ§ Y
51 Ry 561_770 ¥, 520_770 Ul le" YR, b
0.6, G 475573 G, 380_561 39 =890 [XV] 73 S
B, 380 520 M, 573_475 bg = bao [2M)
s0hk a6 ay0=1, byg=-0,4 - A,
04 L L A N
o625 n = P40 —40 \ é., 40
20,700 ao,y=8ov(Y/Y1g71)
C, —
' b, y=boy(Y/Y1g-1) 42
02 i3 ay=0,000,b,,=0,000 5 15
30,4=0,000,by 4=0,000
/ CIE 1931 X Ostwaldcolours (0) Y\=88,6
0,0 2007075 E max (m) chromatic value, P40 T-40
0,0 0,2 0,4 0,6 0,8 1,0 chromatic value (Ao, B)
CE731-1A_1 CE731-2A_1
X,=88,58,Y,,~88,59.2,~88,58 B, X,=88,58,Y,~88,592,-8858 B,
Xy=0,3333y,,=0,3333 E Xw=0,3333y,,=0,3333 T 40
Ar=(ar~[ag n+ay yt+ag al) Y Ax=(ay[ag n+ay, y*ap al) Y
B1=(by—[by y+by y+by A) Y Bo=(by=[by +bs y+0y Al) Y
ay = a0 [(x-0,17)/] 73 + 73 ay =20 [(x-0,1791Y] +
by =byo [ZA 6 0,=byo [(Mp1x-+bp1)/y] 73 b
ay0= 1, byo= -0,4 - ay0=1, byg=-0,4 75
mp1=1,000,bp;=0,171 il Mp;=-0,107 bp;=0,369 e, '632
n=P40 —40 40 n= P40 —40 o | 37) 40
37
3y, y=3v(Y/Y1g-1) 3 y=8py(Y/Y1g71) 42 5 15
by v=boy(Y/Y1g-1) 4 L 03 y=boy(Y/Y1g-1) 1
2,y=0,000,b,,=0,000 15 [ 15 a,y=0,000,b,,=0,000
ay 4=0,000,; 4=0,000 a, x=0,000,b; ,=0,000
Ostwaldcolours (o) Y\y=88,6 Ostwaldcolours (o) Yy,~=88,6
max (m) chromatic value, P40 T-40 max (m) chromatic value, P40 T-40
chromatic value A4, B;) chromatic value (A,, Bo)
CE731-3A_1 CE731-4A_1
X,=88,58,Y,,~8859.2,~88,58 B, X,=88,58,Y,~88,592,-8858 B,
Xy=0,3333y,,=0,3333 X0 Xw=0,3333y,,=0,3333 E
Ag=(ag-[ag n+ag y+ag al) Y Ag=(ag~[ag n+ay, y+ay Al) Y
B3=(bs[b3 b3 y+b3 al) Y B,4=(b4~[Dy, 7+by y+by l) Y
ag = ayq [(x=0,171)y] 1 ay = ay [(x=0,17D/y] 1
22;22[1 [(an[;g(tgni)/y] 3 | 78 46 2:;?2?- [(l[)];?i(t%)z)/y] 73 | 73
=1, byp=-0, =1, byp=-0, 46
mp;=—0,730,bp,=0,576 1 N mp;=-0,107,bp1=0,369 S NO\Q. A:"
n = P40 i 37 " n = P40 _4 ' 1€
PO v ™ 40 Pa0 7 e o379 40
ag y=agy(Y/Y1g-1) 42 15 ay,y=agy(Y/Y1g-1) 15 | 15
b3 v=b,y(Y/Y1g-1) 15 | by y=boy(Y/Y1g-1) 1
,,=0,000,5,,=0,000 a,,=0,000,5,,=0,000
a3 4=0,000,b3 4=0,000 a4, x=0,000,b, ,=0,000
Ostwaldcolours (o) Y\y=88,6 Ostwaldcolours (o) Y,~=88,6
max (m) chromatic value, P40 T-40 max (m) chromatic value, P40 T-40
chromatic value (Ag, B3) chromatic value (A4, Bs)
CE731-5A_1 CE731-6A_1
X,=8858,Y,,~88,59.2,~88,58 B, X,=88,58,Y,,~88,592,-8858 B,
Xy=0,3333y,,=0,3333 X0 X=0,3333y,,=0,3333 240
As=(35[35,1*35,y*a5,a]) Y Ae=(36~{36,1*35,y*35l) Y
Bs=(bs—[bs b5 v+bs Al) Y Bg=(Pg—[bg n+bs,y+0s Al) Y
ag=a,,[(+8,61x~7,19/-0,26)4] 1 ag =y [x/y] +
bs=by,[(+1,9%+3,86/-2,40)] 73 13 bg=bs0 [(Mp1x+bp1)/y] 73 B 4
8 =0,10,b5, = 0,10 ~ =1, by=-04 \\ A
As,G.v,R=475,503,574,494c R Hm . 5 , 5 3 6
n= P40 —40 ' = 20 n=P40 —40 \ ._/.37/’ 40
a5 y=ay(Y/Y1g-1) 42 ag y=apy(Y/Y1g-1) b 15
bs y=boy(Y/Y1g~1) 1 15 b, y=boy(Y/Y1-1) 15
,,=0,000,5,,=0,000 a,,=0,000,5,,=0,000
a5 4=0,000,b5 ,=0,000 a5,4=0,000,b5 4=0,000
Ostwaldcolours (o) Y\y=88,6 Ostwaldcolours (o) Yy,~=88,6
max (m) chromatic value, P40 -40 max (m) chromatic value, P40 T-40

chromatic value (As, Bs)

chromatic value (Ag, Bg)

CE731-7A_1

CE731-8A_1




Ostwaldcolours (o) Y\\=88,6 X,~=88,58,Y,,~88,59,7,,=88,58 BD
0,8 e max (m) chromatic value, AOO %=0,3333y,=0,3333 +40
o chromaticity (X, y) Aq=(an-| +an o Y
y 1P Name and spectral range Bo=$o_{zg'"+§g'v+zg'ﬂ§ Y
51, Rm 561_770 Y, 520_770 Y
0.6, M| G475 573 G380 561 39 =890 [XV] T
Dp 380 520 M, 573 475 by = bao [2M] B
50 ay=1, by=-04 0%7/"'0\.\
) 26 ) N
04 Ny n=A00 ~40 \O\’_ ’/4?,' 40
2o 700 ag,y=ay(Y/Y1g-1) 47 30
e b, y=boy(Y/Y1g-1) 3]
0.2 ‘ a,,=0,000,5,,=0,000
a9,4=0,000,b 4=0,000
{ CIE 1931 X Ostwaldcolours (0) Y\=88,6
0.0 Z007075E max (m) chromatic value, AOO T-40
0,0 0,2 0,4 0,6 0,8 1,0 chromatic value (Ao, B)
CE731-1A_1 CE731-2A_1
X,~88,58Y,~8859.2,-88.58 B, X,~88,58Y,-8859.2,-68,58 B,
%w=0,3333y,,=0,3333 210 Xy=0,3333y,,=0,3333 E
Ar=(ar~[ag n+ay yt+ag al) Y Ax=(ay[ag n+ay, y*ap al) Y
By=(by=[by ntby y+by al) Y Bo=(ba-[by 1tz y+bo Al) Y
ay = ayo [(x-0,17D/y] 4 ay = a0 [(x—0,17D/y] 4
by =byo [ZA B =bs0 [(Mpx+bp1)/Y]
ay=1, by=-04 0%7/"0\\ ay =1, by=-04 57 75 A
my1=1,000,b5;=0,171 6 ~ Mp;=~0,107,bp1=0,369 g 47 2
n = A00 —40 L\._’ /4@‘ 40 n = A00 -40 41 40
ay y=apy(Y/Y1g-1) 30 ap y=apy(Y/Y1g-1) e 30
by y=boy(Y/Y1g~1) 3] by v=boy(Y/Y1g-1) 1
apy=0,000,5,y=0,000 ayy=0,000,b,y=0,000
ay 4=0,000,b; 5=0,000 a,4=0,000,b 5=0,000
Ostwaldcolours (o) Y\y=88,6 Ostwaldcolours (o) Yy,~=88,6
max (m) chromatic value, AOO T-40 max (m) chromatic value, AOO T-40
chromatic value A4, B;) chromatic value (A,, Bo)
CE731-3A_1 CE731-4A_1
X,~88,58,Y,~8859.7,-88,58 B, X,~88,58Y,88,59.2,-68,58 B,
xy=0,3333y,,=0,3333 T40 X=0,3333y,,~0,3333 +40
Ag=(ag-[ag n+ag y+ag al) Y Ag=(ag~[ag n+ay, y+ay Al) Y
B3=(bs[b3 b3 y+b3 al) Y B,4=(b4~[Dy, 7+by y+by l) Y
ag = ay[(x-0,17D/y] + ay = a0 [(x-0,172/y] +
b3=byg [(Mp1x+bp1)/y] . bs=byo [(Mp1x-+bp1)/y]
ax0=1, byg= 04 . 47 a50= 1, byg= -0,4 57 75
Mp1=—0,730,b5,=0,576 p ; A mp1=-0,107,bp1=0,369 oQ6——o0-47 M
t
n =A00 -40 % 40 n=A00 40 a1 S48 40
a3 y=ay(Y/Y1g-1) 4l 13 3y, y=agy(Y/Y1g-1) 30
b y=boy(Y/Y1g-1) 1 by y=boy(Y/Y1g-1) 1
a,y=0,000,5,y=0,000 apy=0,000,b,y=0,000
ag 4=0,000,b5,,=0,000 a, 4=0,000,b4 5=0,000
Ostwaldcolours (o) Y\y=88,6 Ostwaldcolours (o) Y,~88,6
max (m) chromatic value, AOO T-40 max (m) chromatic value, AOO T-40
chromatic value (Ag, B3) chromatic value (A4, Bs)
CE731-5A_1 CE731-6A_1
X,~88,58Y,~8859.7,-68,58 B, X,~88,58Y,-88,59.2,-68,58 B,
%y=0,3333y,,=0,3333 410 %y=0,3333y,,=0,3333 210
As=(a5-[as5 n+as y+as al) Y As=(ag-[g n+3g,y*ag,Al) Y
Bs=(bs—[bs n+bs y+0s ) Y Bg=(bs~[Dg,n+bs y*+0p Al) Y
as=a,[(+8,61x~7,19/~0,26)#] + ag = apg [x/y] +
bs=by,{(+1,9%+3,86/-2,40)4] - bg=bao [(Mp1x+0p1)/y] -
8y = 0,10,b5, = 0,10 a7 ay0= 1, byo= -0,4 - 47
Ag.6.vR=475,503,574.494c BB | @, A \ As
n = A00 _4 ' 4 f n = A00 4 =
A 4o T _J;: 40 A 4o o 40
a5 y=ay(Y/Y1g-1) 13 ag y=apy(Y/Y1g-1) 41 13
bs v =by(Y/Y1g-1) 1 Bg,y=boy(Y/Y1g-1) 1
a,y=0,000,5,y=0,000 apy=0,000,b,y=0,000
a5 4=0,000,b5 x=0,000 a5,4=0,000,b5 4=0,000
Ostwaldcolours (o) Y\y=88,6 Ostwaldcolours (o) Yy,~=88,6
max (m) chromatic value, AOO T-40 max (m) chromatic value, AOO T-40

chromatic value (As, Bs)

chromatic value (Ag, Bg)

CE731-7A_1

CE731-8A_1




Ostwaldcolours (o) Y\\=88,6

max (m) chromatic value, EOO

X,=88,58 Y,~88,59.7,~8858 B,

12K m) chrornal %,=0,3333y,=0,3333 110
chromaticity (x, ]
Mm Nami and spectral range étg;o_{zg":zgvizgﬂi i o 66
Rm 561_770 ¥, 520_770 Ry e
G 475_573 G, 380_561 89 = ago [X/y] +\45
O15,, 380_520 M, 573_475 bg = byo [2/Y 56
ay =1, byp=-0,4 A
1 1 1 Lo
o625 n=E00 —40 \ ' 40
5 700 ag,y=ay(Y/Y1g-1)
el b, y=boy(Y/Y1g-1) 32
500c,E h 1
ayy=0,000,b,y=0,000 4
a9 4=0,000,b5,4=0,000 =
- { CIE 1931 X Ostwaldcolours (0) Y\=88,6 v
0,0 700" max (m) chromatic value, EO0 T-40
0,0 0,2 0,6 0,8 1,0 chromatic value (Ag, Bo)
CE731-1A_1 CE731-2A_1
X,=88,58 Y, =88 59.2,~88.58 B, X,=88,58.Y,,=88,59.2,~8858 B,
%=0,3333y,,=0,3333 0 %,=0,3333y,,=0,3333 00
Ar=(ar~[ag n+ay yt+ag al) Y 8] o5 Ax=(ay[ag n+ay, y*ap al) Y
By=(by=[by ntby y+by al) Y Bo=(ba-[by 1tz y+bo Al) Y
a1 =ay[(x-0,179H] 4L 5 2 = a0 [(x-0,172/y] 4L
by =byo [ZA 56 \\ =bs0 [(Mpx+bp1)/Y] 81 g6
a,0=1, byy=-0,4 ay=1, byp=-0,4 6 45
mr1=1,000,bp1=0,171 A Mp1=-0,107,bp;=0,369 \‘\, A
n = E00 —40 40 n = E00 —40 40
ay y=apy(Y/Y1g-1) ap y=apy(Y/Y1g-1) 42 3
by y=boy(Y/Y1g~1) 2 by v=boy(Y/Y1g-1) 2y
ayy=0,000,b,,=0,000 @ T ay=0,000,b,y=0,000 T
a3 4=0,000,b; 4=0,000 b a 4=0,000,b,,4=0,000
Ostwaldcolours (o) Y\y=88,6 Ostwaldcolours (o) Yy,~=88,6
max (m) chromatic value, EOO T-40 max (m) chromatic value, EOO T-40
chromatic value A4, B;) chromatic value (A,, Bo)
CE731-3A_1 CE731-4A_1
X, =88,58 Y, =88 59.2,~88.58 B, X,=88,58,Y,,=88,59.2,~8858 B,
¥=0,3333y,,=0,3333 e %,=0,3333y,,=0,3333 410
Ag=(ag-[ag n+ag y+ag al) Y Ag=(ag~[ag n+ay, y+ay Al) Y
Bg=(bg-[bg ntb3 y+b3 Al) Y By=(bg~[Dg n+by y+bg Al) Y
ag = ay[(x-0,17D/y] 8t 66 ay =2y [(x-0,171/y] +
b3=byo [(Mp1x+bp1)/y] 45 =50 [(Mp1x+bp1)/Y] 8] 66
ay=1, byp= 0,4 EKORO\\ ag0=1, byy=-04 qge’_O\OQ\s A
Mp1=-0,730,05,=0,576 e Mp1=-0,107,bp;=0,369 . \
n = E00 —40 - 40 n = E00 —40 \y\‘\ 40
a3 y=ay(Y/Y1g-1) 3y, y=agy(Y/Y1g-1) 42
b y=boy(Y/Y1g-1) & 2y by y=boy(Y/Y1g-1) 2y
ayy=0,000,b,,=0,000 ay=0,000,b,y=0,000
a3 4=0,000,b5 4=0,000 a4 4=0,000,b; 4=0,000
Ostwaldcolours (o) Y\y=88,6 Ostwaldcolours (o) Yy,~=88,6
max (m) chromatic value, EO0 T-40 max (m) chromatic value, EO0 T-40
chromatic value (Ag, B3) chromatic value (A4, Bs)
CE731-5A_1 CE731-6A_1
X, =88,58,Y,=8859.2,~88.58 B, X,=88,58,Y,,=88,59.2,~8858 B,
%=0,3333y,,=0,3333 ae %,=0,3333y,,=0,3333 440
As=(a5-[as5 n+as y+as al) Y As=(ag-[g n+3g,y*ag,Al) Y
Bs=(bs—[bs n+bs y+0s ) Y Bg=(bs~[Dg,n+bs y*+0p Al) Y
a5=ay((+8,61x~7,19-0,26)4] 8l gp g = a0 [X/y] 81 e6F
bs=b,{(+1,99x+3,86/-2,40) 45 bg=b20 [(Mp1x+bp1)/Y] 45
ay = 0,10,bp, = 0,10 56 \\ ay0= 1, byo= -0,4 & \\ A
Ag,G.v,R=475,503,574,494CK, nm 5 \ \ : 3%
n = E00 —40 40 n = E00 —40 ' 40

a5 y=ay(Y/Y1g-1)
bs y=boy(Y/Y1g~1)
agy=0,000,b,y=0,000
a5 4=0,000,b5 4=0,000

Ostwaldcolours (o) Y\y=88,6
max (m) chromatic value, EOO

chromatic value (As, Bs)

42

ag y=apy(Y/Y1g-1)

b, y=boy(Y/Y1-1)
a,y=0,000,b,,=0,000
a5 4=0,000,b5 ,=0,000
Ostwaldcolours (o) Yy,~=88,6

max (m) chromatic value, EOO
chromatic value (Ag, Bg)

CE731-7A_1

CE731-8A_1




Ostwaldcolours (o) Y\y=88,6

max (m) chromatic value, CO0

X=88,58,Y,,=88,59,7,,~88,58

08 T 520,535\, chromaticty (x P e 79 140
Mm t);\lsam? and spectral range étg;o_{zg":zgvizgﬂi i 68
Rm 561_770 ¥, 520_770 Ry e 45
G 475_573 G, 380_561 89 = ago [X/y] - +
QOMpa 1380 520 M, 573_475 bo =bao [2]
ay =1, byp=-0,4
A
00 L L N
%625 n=Co00 -40 \ 40
2o 700 ao,y=8ov(Y/Y1g71)
SOOC‘ESC'E Bo,y=by(Y/Y1g-1) 1 30
ayy=0,000,b,y=0,000 4
ag =0,000,by A=0,000
CIE 1931 X Ostwaldcolours (0) Y\=88,6 23
0,0 max (m) chromatic value, CO0 T-40
0,0 0,6 0.8 10 chromatic value Ay, Bg)
CE731-1A_1 CE731-2A_1
X,,=88,58,Y,=88,592,=8858 B, X,=88,58,Y,,~88,59.2,788,58 B,
Xy=0,3333y,,=0,3333 T40 X=0,3333y,,=0,3333 10
Ar=(ar~[ag n+ay yt+ag al) Y 3 65 Ax=(ay[ag n+ay, y*ap al) Y
By=(by=[by ntby y+by al) Y 5 Bo=(ba-[by 1tz y+bo Al) Y
a1 =ay[(x-0,179H] —+ 8 = a9 [(x-0,179/y] 79 —+
by =byo [ZA s =bs0 [(Mpx+bp1)/Y] 65 .
ay=1, byp=-0,4 ay=1, byp=-0,4
mr,=1,000,b,=0,171 1 mp;=-0,107,bp;=0,369 \ '632
n=C00 —40 40 n=C00 —40 40
ay,y=ay(Y/Y1g-1) a5 y=agy(Y/Y1g-1) 42 3
by y=boy(Y/Y1g~1) 1 =30 by v=boy(Y/Y1g-1) 123 g
2,y=0,000,b,,=0,000 h a,y=0,000,b,,=0,000
ay 4=0,000,b; 4=0,000 a, o=0,000,b, ,=0,000
Ostwaldcolours (o) Y\y=88,6 23 B Ostwaldcolours (o) Yy,~=88,6
max (m) chromatic value, CO0 T-40 max (m) chromatic value, CO0 T-40
chromatic value A4, B;) chromatic value (A,, Bo)
CE731-3A_1 CE731-4A_1
X,=88,58,Y,=88,592,=8858 B, X,=88,58,Y,,~88,59.2,788,58 B,
Xy=0,3333y,,=0,3333 L40 Xw=0,3333y,,=0,3333 T 40
Ag=(ag-[ag n+ag y+ag al) Y Ag=(ag~[ag n+ay, y+ay Al) Y
Bg=(bg-[bg ntb3 y+b3 Al) Y By=(bg~[Dg n+by y+bg Al) Y
2y = a5 [(x-0,17)/y] 79 65 ay =20 [(x-0,173/y] &
b3=byo [(Mp1x+bp1)/y] 45 b=, [(Mpyx-+bp1)/y] 65
ay=1 byp=-04 8 =1, by=-04 (5{'0\0\4{ A
Mp;=-0,730,bp;=0,576 3 Mp1=-0,107,bp;=0,369 M
n=C00 —40 40 n=C00 —40 ' 40
a3 y=ay(Y/Y1g-1) 0 3y, y=agy(Y/Y1g-1) 42
b y=boy(Y/Y1g-1) 4 by y=boy(Y/Y1g-1) 23 |k
a,y=0,000,b,y=0,000 23 8 a,y=0,000,b,y=0,000
ag A=0,000,b3 ,=0,000 a, o=0,000,b, ,=0,000
Ostwaldcolours (o) Y\y=88,6 Ostwaldcolours (o) Y,~=88,6
max (m) chromatic value, CO0 T-40 max (m) chromatic value, CO0 T-40
chromatic value (Ag, B3) chromatic value (A4, Bs)
CE731-5A_1 CE731-6A_1
X,=88,58,Y,=88,592,=8858 B, X,=88,58,Y,,~88,50.2,788,58 B,
Xy=0,3333y,,=0,3333 L40 X=0,3333y,,=0,3333 140
As=(a5-[as5 n+as y+as al) Y As=(ag-[g n+3g,y*ag,Al) Y
Bs=(bs—[bs n+bs y+0s ) Y 79 Bg=(bs~[Dg,n+bs y*+0p Al) Y
ag=a,|(+8,61x~7,19-0,26)] 64 ag = ay0 [X/y] 79 g5l
bs=by,[(+1,99¢+3,86/-2,40 45 be=bo [(Mp1X+bp)/y] 45
a5, = 0,10,by, = 0,10 \\ ay0=1, byy=-0,4 58 A
As.G.y,R=475,503,574,494c §nm , 5 \ \ 6
n=C00 —40 ’ 40 n=C00 —40 \ 40
a5 y=apy(Y/Y1g-1) 30 ag y=apy(Y/Y1g~1) 30
bs y=boy(Y/Y1g~1) 42 b, y=boy(Y/Y1-1) 42
ayy=0,000,b,y=0,000 5 a,y=0,000,b,y=0,000 T2 8
a5, 4=0,000,bs ,=0,000 a5 4=0,000,b5 ,=0,000
Ostwaldcolours (o) Y\y=88,6 Ostwaldcolours (o) Yy,~=88,6
max (m) chromatic value, CO0 T-40 max (m) chromatic value, CO0 T-40

chromatic value (As, Bs)

chromatic value (Ag, Bg)

CE731-7A_1

CE731-8A_1




Ostwaldcolours (o) Y\\=88,6

X,=88,58 Y,~88,59.7,~8858 B,

0,8 o max (m) chromatic value, POO %=0,3333y,=0,3333 +40
o chromaticity (X, y) Aq=(an-| +an o Y
y 1P Mm Name and spectral range Bo=$o_{zg'"+§g'v+zg'ﬂ§ Y 80
51 Rm 561 770 ¥, 520 770 G T B8 z
0.6, GmA475.573 G, 380_561 39 =890 [XV] 6
B, 380 520 M, 573_475 bg = bao [2M) .
50p4 R ay =1, byp=-0,4 A
0 4 1 1 1 LO
’ o625 n = P00 —40 \ ' 40
20,100 ao,y=8ov(Y/Y1g71) 35
' Bo,y=by(Y/Y1g-1) e
02 i3 ay=0,000,b,,=0,000 <+
29,2=0,000,by 4=0,000 16 7
/ CIE 1931 X Ostwaldcolours (0) Y\=88,6
0.0 Z007075E max (m) chromatic value, POO T-40
0,0 0,2 04 0,6 0,8 10 chromatic value (Ao, B)
CE731-1A_1 CE731-2A_1
Xu=88,58,Y,,~88,59.2,~88.58 B, Xu=88.58,Y,~88,59.2,~8858 B,
%=0,3333y,,=0,3333 0 %,=0,3333y,,=0,3333 240
Ar=(ar~[ag n+ay yt+ag al) Y Ax=(ay[ag n+ay, y*ap al) Y
By=(1-[by n+by y+by al) Y 8q 71 B;=(b—[by 02 y+02 Al) Y
3y = ay[(x-0,17Dh] gis 5 2 = a0 [(x-0,172/y] 4L
by = by 2] Z 0,=byo [(Mp1x-+bp1)/y] 80 71|
80=1, byp=-04 =1, by=-04 46
mr;=1,000,b5,=0,171 M Mp;=-0,107,bp1=0,369 [, A
n = P00 —40 40 n = P00 —40 o | > 40
ay,y=ay(Y/Y1g-1) 35 a5 y=agy(Y/Y1g-1) 2 G
by y=boy(Y/Y1g~1) 1 by v=boy(Y/Y1g-1) |
ay=0,000,b,,=0,000 ay=0,000,b,y=0,000
a3 4=0,000,b; 4=0,000 16 [r a3 =0,000,b, 4=0,000
Ostwaldcolours (o) Y\y=88,6 Ostwaldcolours (o) Yy,~=88,6
max (m) chromatic value, POO T-40 max (m) chromatic value, POO T-40
chromatic value A4, B;) chromatic value (A,, Bo)
CE731-3A_1 CE731-4A_1
X.=88,58,Y,,~88,59.2,~88.58 B, X.=88,58,Y,~88,59.2,~8858 B,
¥=0,3333y,,=0,3333 e %,=0,3333y,,=0,3333 20
Ag=(ag-[ag n+ag y+ag al) Y Ag=(ag~[ag n+ay, y+ay Al) Y
Bg=(bg-[bg ntb3 y+b3 Al) Y By=(bg~[Dg n+by y+bg Al) Y
ag = ayq [(x=0,171)y] 7 ay = ay [(x=0,17D/y] 1
b3=byg [(Mp1x+bp1)/y] &( 46 bs=byo [(Mp1x-+bp1)/y] 8q 71
ay=1, byp=-0,4 A ay =1, byp=-0,4 6452——0"0\4‘6 A
mp;=-0,730,bp,=0,576 f 2 3 mp;=-0,107,bp;=0,369 n N
n = P00 _40 n = P00 _40 40

a3 y=ay(Y/Y1g-1)

b3 y=boy(Y/Y1g-1)
a,y=0,000,b,y=0,000

ag 4=0,000,b3 x=0,000
Ostwaldcolours (o) Y\y=88,6

[
42

3y, y=agy(Y/Y1g-1)

by y=boy(Y/Y1g-1)
a,y=0,000,b,y=0,000

a4 4=0,000,b; 4=0,000
Ostwaldcolours (o) Y,~=88,6

max (m) chromatic value, POO T-40 max (m) chromatic value, POO T-40
chromatic value (Ag, B3) chromatic value (A4, Bs)

CE731-5A_1 CE731-6A_1
X,=88,58,Y,=88,592,=8858 B, X,=88,58,Y,,~88,50.2,788,58 B,
Xy=0,3333y,,=0,3333 L40 X=0,3333y,,=0,3333 140

As=(35[35,1*35,y*a5,a]) Y
Bs=(bs—[bs b5 v+bs Al) Y
as=ap,[(+8,61x-7,19-0,26)4]

80 71

n = P00

a5 y=apy(Y/Y1g-1)
bs y=boy(Y/Y1g~1)
2,y=0,000,b,,=0,000

a5, 4=0,000,bs ,=0,000
Ostwaldcolours (o) Y\y=88,6
max (m) chromatic value, POO
chromatic value (Ag, Bs)

-40

42

By, [(+1,99¢+3,88/-2,40)4] "

A= 0,10,by, = 0,10 gow\ A

Ab.6.v,R=475,503,574,494 nm 5
' ko)

16 7

Ae=(36~{36,1*35,y*35l) Y
Bg=(Pg—[bg n+bs,y+0s Al) Y
g = a0 [X/y]

bg=bs0 [(Mp1x+bp1)/y]
ay=1, byp=-0,4

;
n = P00 _40
ag y=apy(Y/Y1g~1)

b, y=boy(Y/Y1-1)
ay=0,000,b,y=0,000
a5,4=0,000,b5,4=0,000

Ostwaldcolours (o) Yy,~=88,6

max (m) chromatic value, POO
chromatic value (Ag, Bg)

CE731-7A_1

CE731-8A_1




Ostwaldcolours (o) Y\\=88,6

X,=88,58 Y,~88,59.7,~8858 B,

0,8 . max (m)_ c_hromatic value, Q00 %=0,3333y,=0,3333 80 +40
e Mmghromaticity (x. ) Ag=@o-[Boi*e0 v 20,) Y o~87
Name and spectral range By=(bo[bo.r+bo y+bo.A))
Ry 561_770 ¥, 520_770 Ul le" YR, 45
Y Gn 475573 G, 380 561 39 =890 [XV] 58 +
MR, 380 520 M, 573_475 bg = bao [2M)
3 ay =1, byp=-0,4 A
1 1 1 Lo
w625 n = Qo0 —40 \ ' 40
82,100 ag y=apy(Y/Y1g~1)
S00CE Bo,y=by(Y/Y1g-1) 1 o
ayy=0,000,b,y=0,000 4
ag =0,000,by A=0,000
X ~%s0c, CIE 1931 X Ostwaldcolours (0) Y\=88,6 20 3
0,0 Z0070o5E max (m) chromatic value, Q00 T-40
0,0 0,2 0,4 0,6 0,8 1,0 chromatic value Ay, Bg)
CE731-1A_1 CE731-2A_1
X,~88,58,Y,,~8859.2,78858 B, X,=88,58 Y,~88,59.7,~8858 B,
%y=0,3333y,,=0,3333 at40 Xy=0,3333y,,=0,3333 240
Ar=(ar~[ag n+ay yt+ag al) Y 57 Ax=(ay[ag n+ay, y*ap al) Y
By=(by=[by ntby y+by al) Y Bo=(ba-[by 1tz y+bo Al) Y
ag = a0 [(x-0,179y] 58+ S 2y = a0 [(x=0,17D/y] 80 4
by =byo [ZA 0,=byo [(Mp1x-+bp1)/y] 87
ax0=1, by = ~0,4 A a0=1, byo=—0,4 @O\ 45 A
my1=1,000,b5;=0,171 4 Mp1=-0,107,bp1=0,369 \ 2
n=Q00 —40 40 n= Q00 —40 40
ay,y=ay(Y/Y1g-1) a5 y=agy(Y/Y1g-1) 43
by y=boy(Y/Y1g~1) b2 v=boy(Y/Y1g-1) 20 3
a,y=0,000,5,,=0,000 A T 30 apy=0,000,5,,=0,000 T
ay o=0,000,b; x=0,000 ap,4=0,000,b, 5=0,000
Ostwaldcolours (o) Y\y=88,6 20 B Ostwaldcolours (o) Yy,~=88,6
max (m) chromatic value, Q00 T-40 max (m) chromatic value, Q00 T-40
chromatic value A4, B;) chromatic value (A,, Bo)
CE731-3A_1 CE731-4A_1
X,~88,58,Y,,~8859.2,78858 B, X,=88,58,Y,~88,59.2,~8858 B,
%y=0,3333y,,=0,3333 240 Xy=0,3333y,,=0,3333 240
Ag=(ag-[ag n+ag y+ag al) Y Ag=(ag~[ag n+ay, y+ay Al) Y
Bg=(bg-[bg ntb3 y+b3 Al) Y By=(bg~[Dg n+by y+bg Al) Y
ag = agq [(x—0,172)/y] 8d 67 ay = ap [(x—0,17D/y] st
b3=byo [(Mp1x+bp1)/y] 45 =50 [(Mp1x+bp1)/Y] 67
80= 1, byo=-0,4 a=1, by=-04 (B/O\OV\S A
Mp1=-0,730,05,=0,576 3 Mp;=-0,107 bpy=0,369 ) R
n = Q00 —40 40 n = Qo0 —40 ' 40
a3 y=ay(Y/Y1g-1) 30 3y, y=agy(Y/Y1g-1) 4
b y=boy(Y/Y1g-1) 4 4 by y=boy(Y/Y1g-1) 20 Jg
a,y=0,000,5,,=0,000 207 ay=0,000,b,y=0,000
ag 5=0,000,b3 x=0,000 ay,4=0,000,b, ,=0,000
Ostwaldcolours (o) Y\y=88,6 Ostwaldcolours (o) Y,~=88,6
max (m) chromatic value, Q00 T-40 max (m) chromatic value, Q00 T-40
chromatic value (Ag, B3) chromatic value (A4, Bs)
CE731-5A_1 CE731-6A_1
X,~88,58,Y,~8859.2,78858 B, X,=88,58 Y,~88,59.2,~8858 B,
%y=0,3333y,,=0,3333 240 Xy=0,3333y,,<0,3333 240
As=(a5-[as5 n+as y+as al) Y As=(ag-[g n+3g,y*ag,Al) Y
Bs=(05[bs,ntbs y*s ) Y g1 Bg=(bs~[Dg,n+bs y*+0p Al) Y
ag=ay,{(+8,6x~7,19-0,26)] o~ 8/ L a6 = ago [X/y] 80 67 L
bs=by,[(+1,99¢+3,86/-2,4QFg 45 be=bz0 [(Mp1X+bp1)/y] 45
agy = 0,10,by, = 0,10 \\ ao=1, byo=-04 58 \‘\ A
\g,G.v,R=475,503,574,494cnm . 5 ) ) \ 6
n=Q00 —40 i 40 n = Qo0 —40 \\ ' 40
a5 y=apy(Y/Y1g-1) ag y=apy(Y/Y1g~1) 30
bs y=boy(Y/Y1g~1) 43 & b, y=boy(Y/Y1-1) 43
ay=0,000,6,,=0,000 T20 8 apy=0,000,b,y=0,000 T 20 8
a5 4=0,000,b5 5=0,000 a5,4=0,000,b5 4=0,000
Ostwaldcolours (o) Y\y=88,6 Ostwaldcolours (o) Y,~=88,6
max (m) chromatic value, Q00 T-40 max (m) chromatic value, Q00 T-40

chromatic value (As, Bs)

chromatic value (Ag, Bg)

CE731-7A_1

CE731-8A_1




